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1. Find the limit liII[l) .
z—
(A)4 (B)O (C)-4 (D) -2 (E) Does not exist

2. If f(z) =Inz +tan'z, find (F13).

2 3 2 3
(A) 3 (B) 3 (G)o (D) ~3 (E) ~3
vZ/2 z2
3. What is th 1 f the definite int 1/ dz?
at 1s € value o € aennite in egra A m T

Wi-5 ®-f-; ©F-1 @I+l —

(E) None of these
. 22
4. If zsinng = / f(t) dt, where f is continuous function, find f(4).
0

@-3 ®-r ©o ®r @]

1
5. Evaluate/ Inzdz.

(A)1 (BY -1 (C)e (D)0 (E) Does not exist

6. Find the area of the region bounded by the graphs of y = ;85! y=28z and y = z.
A)1 (B)2 (C)4 (D) 6 (E) None of these

1 w/2
7. Evaluate / / coszV'1 + cos? z dzdy.
0 Jsin7ly

V8 -1 V8 +1 ~V8 -1 -V8+1
—— (B 3 (C) 3 (D) 3

(A)

(E) None of these

— 4"lnn’
(A) (m00,00)  (B) (-4,4) (C) [-4,4) (D) (~4,4] (E)[-4,4]

oo
8. Find the interval of convergence of the series Z(—l)"

9. Find the maximum rate of change of f(z) = ze*~¥ at the point P = (1,1)

(A)10 (B)5 (C)v5 (D)v20 (E) V10

10. Find the maximum value of the function f(z,y) = 2% + 2y? on the disk z2 + yP< 1
(A)1 v(B)2 (C)4 (D)8 (E)o
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1. Evaluate lim( z / siil-t-dt). Answer :
3

z—3 2,‘—3

2. Find the highest point on the curve z? + zy + y% = 12. Answer :

n—00 £

n /m2 _ 52
3. Find the limit lim Z —n—nz—] Answer :
i=1

4. Evaluate lim (14 z)¥/*. Answer :
(z,4)—(0,2)

5. Find the line integral of F=< 2xyz, 2%z, z%y > over any path from (0,0,0) to (3,2, 1).

Answer : i
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zsing, z#0

1. Define f(z) = {
0, z=0.

Show that

(a) f(z) is continuous at z = 0.

(b) f'(0) does not exist.

2. (a) How long will it take an investment to double in value if the interest rate is 6%
compounded continuously? !

(b) What is the equivalent annual interest rate? (Note: The annual interest rate in

A=A(1+r)isr).
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